

Received: October 16, 2023 / Revised: November 11, 2023 / Accepted: December 09, 2023 / Published: December 30, 2023

ASSOCIATION BETWEEN PEACE AND EDUCATION AS A SINGLE INDEX VALUE: AN EMPIRICAL STUDY OF THE WORLD COUNTRIES

R. Sridhar¹, V. Dineshkumar², M. Chandran³, H.K. Mamatha^{4*}

¹Department of Computer Science, Ramakrishna Mission Vivekananda Educational and Research Institute,

Coimbatore

rmsridhar@rediffmail.com/ sridhar@rmv.ac.in,

²Department of Computer Science, Ramakrishna Mission Vivekananda Educational and Research Institute, Coimbatore

dineshkumarvt@gmail.com

³Department of Computer Applications, Sri Ramakrishna Mission Vidyalaya College of Arts and Science, Coimbatore

⁴Department of Health System Management Studies, JSS Academy of Higher Education & Research, Mysore, Karnataka, India

*Correspondence: H.K. Mamatha

Abstract: The recent Human Development Report, "Uncertain Times, Unsettled Lives: Shaping our Future in a Transforming World", by UNDP, argues that layers of uncertainty are stacking up and interacting to unsettle life in unprecedented ways. The last two years of the pandemic along with the Ukraine war have caused drastic socioeconomic changes and influenced many lives across nations. This is very much evident in the recent Human Development Index calculated by UNDP wherein the levels are the same as were in 2016. This is a huge setback to the Sustainable Development Goals and a cause for serious concern across nations. Education promotes peace. Education has been touted as one of the most powerful tools we can implement in our global efforts to promote world peace. Confucius said it as far back as 500 B.C.: "Education breeds confidence. Confidence breeds hope. Hope breeds peace." Education encourages independent thinking, and it opens doors to new ideas. Critical thinking coupled with independent thinking could lead to innovative solutions and alternatives to violence. Education Index published by United Nations Development Programme is considered with the Peace Index published by the Institute for Economics & Peace (IEP) which measures the relative position of nations' and regions' peacefulness. In this study, a single index value was computed using Multiplication probability and Max and Min methods by combining the education and peace index. It was found that there are countries whose education index is higher but whose peace index value is lower, with differences in ranking patterns. Therefore, by finding the single index value for education and peace, it is shown that education value is directly proportional to peace. The analysis helps design policies for reinstating human confidence in the system and living a peaceful coexistence with nature.

Keywords: Education Index; Peace Index; Multiplication Probability; Maximum and Minimum method, Bland-Altman plot



All the articles published by Chelonian Conservation and Biology are licensed under a Creative Commons Attribution-NonCommercial 4.0 International License Based on a work at https://www.yugato.org/

1. Introduction

1.1 Human Development Index

The Human Development Report published by UNDP, <u>"Uncertain Times, Unsettled Lives: Shaping our Future</u> in a Transforming World", argues that layers of uncertainty are stacking up and interacting to unsettle life in unprecedented ways [1]. The last two years of the pandemic along with the Ukraine war have caused drastic socio-economic changes and influenced many lives across nations. This is very much evident in the recent Human Development Index calculated by UNDP wherein the levels were found to be the same as were in 2016 [2]. This is a huge setback to the Sustainable Development Goals and a cause for serious concern across nations. Education has been touted as one of the most powerful tools we can implement in our global efforts to promote world peace. Confucius said it as far back as 500 B.C.: "Education breeds confidence. Confidence breeds hope. Hope breeds peace." Education encourages independent thinking, and it opens doors to new ideas. Critical thinking coupled with independent thinking could lead to innovative solutions and alternatives to violence. 1.2 Education index

The Human Rights Conventions declare: "Education must prepare a child for responsible life and effective participation in a free society in a spirit of understanding, peace, tolerance, equality of sexes and friendships among all peoples, ethnic, national and religious groups and persons of indigenous origin." <u>Education</u> is a major component of <u>well-being</u> and is used in the measure of <u>economic development</u> and <u>quality of life</u>, which is a key factor determining whether a country is a <u>developed</u>, <u>developing</u>, or <u>underdeveloped</u> country. Education Index published by United Nations Development Programme is considered with the Peace Index published by the Institute for Economics & Peace (IEP) which measures the relative position of nations' and regions' peacefulness. The education index is an average of mean years of schooling (of adults) [3] and expected years of schooling (of children) [3], both expressed as an index obtained by scaling with the corresponding maxima.



Fig 1: Human Development Index (source:<u>https://hdr.undp.org/data-center/human-development-index#/indicies/HDI</u>)

1.3 Calculation of Education Index

A country's education index is calculated with the following formula [4].

EI=(EYS/18+MYS/15)/2-----→1

EYS expected years of schooling, is a calculation of the number of years a student is expected to attend school or university. In most countries, a master's degree represents the highest obtainable level of education, and obtaining one reflects 18 years of education [5]. This means that if every student in a country is enrolled in a master's degree that country's EYS index would be 1.0.

MYS, mean years of schooling, is a calculation of the average number of years of education a student over the age of 25 has received. It's based on the education attainment levels of the population converted into years of schooling based on the theoretical duration of each level of education attended [6]. 15 years is the projected maximum of this indicator for 2025 and is thus used as the maximum for the index. This means that a country whose citizens all attained 15 years of education by the age of 25, would have an MYS index of 1.0.

Worldwide education indexes are provided by the UNDP's Human Development Report derived from the UNESCO Institute for Statistics and other sources. [7]

1.3 Data Collection of Education Index

Data is collected from the Human Development Report of 135 countries from the year 1990 to 2019. Data of the Education Index of each year lies between 0 to 1 which indicates that as the probability value increases the education value increases.

The ranking on Education Index is shown in Table 1 (appendix).

1.4 Peace Index

Global Peace Index (GPI) is a report produced by the Institute for Economics & Peace (IEP) which measures the relative position of nations' and regions' peacefulness. The GPI ranks 135 countries (collectively accounting for 95 percent of the world's population) according to their levels of peacefulness. It has also empirically developed the Positive Peace Index (PPI), which measures the attitudes, institutions and structures that create and sustain peaceful societies.[8]

The eight pillars of positive peace are well-functioning government, sound business environment, acceptance of the rights of others, good relations with neighbours, free flow of information, high levels of human capital, low levels of corruption, and equitable distribution of resources.

A composite index measuring the peacefulness of countries made up of 23 quantitative and qualitative indicators each weighted on a scale of 1-5. The lower the score the more peaceful the country. These 23 Indicators which are used to rank the countries are shown in Table 2. Ranked on a 1 to 5 scale, were converted by using the following formula:

 $\mathbf{x} = [\mathbf{x} - \min(\mathbf{x})] / [\max(\mathbf{x}) - \min(\mathbf{x})] - \cdots \rightarrow 2$

where max(x) and min(x) are the highest and lowest values for that indicator of the countries ranked in the index.

	Indicator
1	Number and duration of internal conflict
2	Number of deaths from external organized conflict
3	Number of deaths from internal organized conflict
4	Number, duration, and role in external conflicts
5	Intensity of organized internal conflict
6	Relations with neighbouring countries
7	Level of perceived criminality in society
8	Number of refugees and displaced persons as a percentage of the population
9	Political instability
10	Impact of terrorism
11	Political terror
12	Number of homicides per 100,000 people
13	Level of violent crime
14	Likelihood of violent demonstrations
15	Number of jailed persons per 100,000 people
16	Number of internal security officers and police per 100,000 people
17	Military expenditure as a percentage of GDP
18	Number of armed-services personnel per 100,000
19	Volume of transfers of major conventional weapons as recipient (imports) per 100,000 people
20	The volume of transfers of major conventional weapons as a supplier (exports) per 100,000 people
21	Financial Contributions to UN peacekeeping missions
22	Nuclear and heavy weapons capability
23	Ease of access to small arms and light weapons

Table 2. Indicators of GPI ranks of countries	[8]	
---	-----	--

1.5 Data collection of Peace Index

Data is collected from the Global Peace Index Report of 135 countries from 2008 to 2019 [9]. Data is indicated on a scale of 1 to 5, which shows that the higher the values, the lesser the peace.

The values from a scale of 1 to 5 are required to be converted to a scale of 0 to 1 to be equivalent to the education index as it is required to study the relationship between education and peace [10].

The formula to convert the scale 1 to 5 as 0 to 1 is as follows:

$X=1-(x_i/Max(X))-\dots \rightarrow 3$

X is a set of elements of the column such as $(x_1, x_2, x_3, ...)$

The ranking on Peace Index is shown in Table 1.

1.6 Working procedure

Education index in the range of 0 to 1. Rank the countries in the descending order. It is represented as P(A).

Peace index in the range of 0 to 1. Rank the countries in the descending order. It is represented as P(B).

Since Education Index and Peace index are independent events, a single value index could be calculated as P(A)*P(B) as multiplication probability.

Find the correlation between the Education Index, Peace Index, and Single Index Value of Multiplication Probability.

The latitude and longitude of countries are plotted using the folium package of python [11].

Another method to calculate a single value index is-

Find the maximum and minimum of the education index which is represented as max(e) and min(e) Find the maximum and minimum of the peace index which is represented as max(p) and min(p)

The single index value is calculated as

X(e)-min(e)/(max(e)-min(e))*X(p)-min(p)/(max(p)-min(p)-----→4

Where X(e) is the set of values of the education index and X(p) is the set of values of the peace index. Find the correlation between the Education Index, Peace Index, and Single Index Value of the Maximum and Minimum methods.

The ranking of the Education index, Peace Index, Ranking of Multiplication Probability, and Max and Min Methods showed in Table1.

1.7 Result and Analysis

Education Index

The ranking of countries on the education index is shown in table 1. Countries plotted in the map using table 3 with the following range:

Table 3. Range based on the education index

Range	Number of countries	Colour
0-0.5	44	Red
0.5001-0.75	63	Orange
0.7501-0.8	11	Blue
>0.8	17	Green



Fig. 2. Education Index values of different countries

Ranking of countries on Peace index is shown in the table 2. Countries plotted in the map using the table 4 with the following range.

Table 4. The above-mentioned countries in the table 1 are plotted in the map using the following range for the Peace Index.

Range	Number of countries	Colour
0-0.3	14	Red
0.300001-0.500000	84	Orange
0.500001-0.600000	27	Blue
>0.600001	10	Green



Fig. 3. Peace Index values of different countries

3.1 Single Index Value for Education and Peace using Multiplication probability Ranking of countries on Peace and education index using Multiplication probability is shown in table 1.

3.1.1 Correlation Analysis

The correlation between Education, Peace and the single index value of multiplication probability is shown in Table 5.

	Education	Peace	Single Index Value of
			Multiplication Probability
Education	1	0.533278	0.875473
Peace	0.533278	1	0.84597
Single Index Value of	0.875473	0.84597	1
Multiplication Probability			

Table 5: Correlation between Education & Peace Index

It could be concluded that by converting the education and peace index as a single index value education and peace are highly positively correlated with the Single Index Value of Multiplication Probability.

The above-mentioned countries are plotted on the map using the following range for the Single index value of multiplication probability shown in Table 6.

Table 6. Range of single index value of multiplication probability

Range	Number of countries	Colour
0-0.3	89	Red
0.300001-0.500000	38	Orange
0.500001-0.600000	6	Blue
>0.600001	2	Green



Fig 4. Plotting of Range for Single index value of multiplication probability

3.2 Single index value using Max and Min Method

Ranking of countries on Peace and education index using Max and Min method is shown in table 2.

3.2.1 Correlation Analysis

The correlation between Education, Peace and the single index value of Max and Min method probability is shown in Table 1.

	0	0	
	Education	Peace	Single index value of using
			Max and Min method
Education	1	0.533278	0.887106
Peace	0.533278	1	0.816104
single index value using Max	0.887106	0.816104	1
and Min method			

Table 7. The table shows the correlation of single index values using the Max and Min method

It could be concluded that by converting the education and peace index as a single index value education and peace are highly positively correlated with Education & Peace. Therefore, based on the above conclusion, Table 8 is shown:

Table 8. The above-mentioned countries are plotted in the map using the following range for single index value using Max and Min method

Range	Number of countries	Colour
0-0.3	57	Red
0.300001-0.600000	56	Orange
0.600001-0.800000	15	Blue

>0.800001	7	Green
-----------	---	-------



Fig 5. Plotting of range for single index value using Max and Min method

4. Comparison of the two methods

The correlation between the single index value of multiplication probability and the single index value of the max and min method is 0.998239.

Table 9. The range between the single index value of multiplication probability and the single index value of the max and min method.

Multiplication Probability		Max and Min Method	
Range	Number of	Range	Number of
	countries		countries
0-0.3	89	0-0.3	57
0.300001-0.500000	38	0.300001-0.600000	56
0.500001-0.600000	6	0.600001-0.800000	15
>0.600001	2	>0.800001	7

 R^2 score is 0.70013 and the Correlation is 0.8608 between the two methods.

A Bland-Altman plot [12] is used to visualize the differences in measurements between the two methods and their values are shown in table 10. A Bland–Altman plot (difference plot) in <u>analytical chemistry</u> or <u>biomedicine</u> is a method of <u>data plotting</u> used in analyzing the agreement between two different <u>assays</u>.[13,14]

Table 10. The Bland-Altman value between the two methods.

Mean of method 1	33.75
------------------	-------

Mean of method 2	33.75
N	4
DoF	3
Mean Diff (Bias)	0
SD Diffs	19.065
Lower LoA	-37.368725
Upper LoA	37.368725
Within Subject SD	13.481469
Repeatability Coefficient	37.368725



Fig 6. Mean difference of countries in Bland Altman plot.

The average difference turns out to be 0 and the 95% confidence interval for the average difference is [-37.37, 37.37].

The data is normally distributed since all the points lie within two standard deviations of the mean and the repeatability coefficient is 37.368725 which is the precision measure.

Since the average difference is 0 there is no significant difference between the two methods. Therefore, either of the methods could be used for calculating multiplication probability.

5. Discussion

Education is a significant contributor to peace and appears in two of the 24 indicators in the Positive Peace Index produced by the Institute for Economics and Peace.

Education can lead to peace and help build peaceful communities and thereby peaceful nations [15]. Education in many ways is a fundamental building block through which societies can build resilience and develop mechanisms to learn and adapt. Mean years of schooling are closely associated with the most peaceful countries

[9]. The focus on how peace leads to better education is evidenced in post-war countries and therefore both are inseparable. The suggested method of Single index value is for categorizing countries to consider the indicators for ranking of countries and a significant difference in ranking is observed for both indices as it is given by different agencies. In this study, the ranking of the countries varied with the use of Multiplication probability for a single value. The findings of this study reflect that by using a single method to combine both the education index and peace index the country's rankings can provide useful insights into the correlation between both indices. Therefore, by finding the single index value for education and peace it is shown that education value is directly proportional to peace.

6. Conclusion

The single index value of multiplication probability and the Single index value of Max and Min shows that the two methods are efficient and precise. Even though there are countries where the education index is good, peace is low. It is being plotted on the map for better visualization and information.

As educational values were given more importance in the countries such as New Zealand, Iceland, Denmark, Australia, Canada, Norway, Sweden, Finland, and so on, internal, and external conflicts are very less and found peacefulness in the country.[9]

There are countries such as Israel and the United States where education is best, but the peace index is low because of external/internal conflicts. This is suggestive that countries should focus on increasing their peace index value in correlation to their education index for better ranking in both. These countries should focus on educational values in order to increase the peace index.

The study on education and peace index as a single index value provides information that education is proportional to peace, and it is important to increase the education index for ensuring peace.

Acknowledgments

To all the authors for their valuable contribution to carrying out this study.

Funding Details None Conflict of interest None

References

1. Human Development Report (2021-22); United Nations Development Reports <u>https://hdr.undp.org/data-</u>center/human-development-index#/indicies/HDI

2. Chakravarty, S. (2011). "A Reconsideration of the Trade-offs in the New Human Development Index." Journal of Economic Inequality. 9(3): 471-474.

3. Hidalgo, C.A. (2010). "Graphical Statistical Methods for the Representation of the Human Development Index and its Components." Human Development Research Paper 39. UNDP-HDRO, New York

4. New method of calculation of Human Development Index (HDI), India Study Channel. 2011.

(https://www.indiastudychannel.com/resources/141517-New-method-of-calculation-of-Human-Development-Index-HDI-

.aspx#:~:text=New%20Human%20Development%20Index%20(HDI,list%20of%20division%20of%20countrie s.).

5. UNESCO Institute for Statistics (2010). Correspondence on education indicators. March. Montreal.) http://data.uis.unesco.org/

6. Human Development Report (2020), United Nations Development Programme, UNESCO Institute for Statistics, ICF Macro Demographic and Health Surveys, UNICEF Multiple Indicator Cluster Surveys and OECD (2019b). <u>http://hdr.undp.org/en/indicators/103706</u>

7. Barro, R. J.; Lee, J.-W., (2010), A New Data Set of Educational Attainment in the World, 1950–2010, NBER Working Paper No. 15902.

8. Institute for Economics & Peace. COVID-19 and Peace, Sydney, June 2020. Available from: http://visionofhumanity.org/reports (accessed Date Month Year).

9. Institute for Economics and Peace (2017), Global Peace Index, <u>https://www.economicsandpeace.org/wp-content/uploads/2013/06/2013-GPI-Report.pdf</u>.

10. Information about indicators and methodology "2013 Global Peace Index"(PDF). Institute for Economics and Peace. Archived from the original (PDF) on 2013-12-10. Retrieved 2013-06-24.

11. Python Folium, https://python-visualization.github.io/folium/

12. D. G. Altman and J. M. Bland (1983), Measurement in Medicine: the Analysis of Method Comparison Studies, The Statistician 32, 307–317.

13. Bland JM, Altman DG, (1986). Statistical methods for assessing agreement between two methods of clinical measurement, Lancet.327(8476): 307–10. CiteSeerX10.1.1.587.8931.doi:10.1016/S0140-6736(86)90837-8. PMID2868172.S2CID2844897 (1986)

14. 'How to create Bland Altman plot using Python', <u>https://www.statology.org/bland-altman-plot-python/</u>

15. Thompson, S. (2015). Links between education and peace. GSDRC Helpdesk Research Report 1308. Birmingham, UK: GSDRC, University of Birmingham / Oxford: HEART.

Supplementary material Table1: Education & peace Index values based on results of two methods

	Education	Index	Peace In	dex	Multipli Probabil	cation ity	Max and	Min Method
	Educatio	rank_e	D	rank_pe	EduPe	rankedu_p	Edupea	Rank_max_
Country	n	du	Peace	ace	ace	eace	ce1	min
	0.878766		0.6489		0.5703		0.92023	
New Zealand	667	3	9	2	11	1	3	1
			0.6832		0.5602		0.89436	
Iceland	0.8199	15	74	1	16	2	8	2
	0.845766		0.6470		0.5472		0.87555	
Denmark	667	8	25	3	32	3	8	3
			0.6040		0.5429		0.87432	
Australia	0.8988	1	79	8	47	4	3	4
			0.5827		0.5123		0.81834	
Norway	0.8792	2	03	14	13	6	9	5
	0.839366		0.6130		0.5145		0.81780	
Canada	667	11	14	6	43	5	4	6
			0.6001		0.5109		0.81290	
Sweden	0.8513	6	63	10	19	7	2	7
			0.5983		0.5007		0.79349	
Finland	0.8369	12	29	12	42	8	8	8
			0.6070		0.4970		0.78498	
Slovenia	0.8189	16	32	7	98	9	1	9
	0.823266		0.5999		0.4939		0.78005	
Ireland	667	14	74	11	39	10	2	10
	0.840733		0.5801		0.4877		0.77139	
Belgium	333	9	93	15	88	11	4	11
	0.856766		0.5629		0.4822		0.76347	
Germany	667	5	17	17	89	14	5	12
			0.6281		0.4851		0.75812	
Austria	0.7724	22	68	4	97	12	4	13
			0.6228		0.4845			
Japan	0.778	21	27	5	59	13	0.75786	14
	0.845833		0.5613		0.4748		0.74931	
Netherlands	333	7	43	18	03	15	3	15

	0.757733		0.5706		0.4324		0.66617	
Hungary	333	25	6	16	08	16	9	16
			0.5442		0.4292			
Poland	0.7888	19	43	22	99	17	0.66459	17
	0.810766		0.5110		0.4143		0.64108	
Estonia	667	17	81	35	67	19	7	18
	0.839566		0.4831		0.4056		0.62831	
United Kingdom	667	10	62	43	47	21	7	19
			0.5958		0.4147		0.62755	
Singapore	0.6961	40	64	13	81	18	3	20
	0.680633		0.6040		0.4111		0.61887	
Portugal	333	45	16	9	14	20	7	21
			0.5220		0.4003		0.61266	
Latvia	0.7668	24	71	29	24	22	7	22
			0.4922		0.3904		0.59841	
Lithuania	0.7933	18	38	40	93	25	5	23
			0.5298		0.3914		0.59452	
Spain	0.7388	30	94	25	86	24	7	24
			0.5609		0.3924		0.59102	
Romania	0.6997	39	14	19	72	23	6	25
	0.715366		0.5313		0.3801		0.57253	
Bulgaria	667	36	51	24	11	26	4	26
			0.5294		0.3753		0.56374	
Chile	0.7089	37	75	26	45	27	4	27
	0.725633		0.5010		0.3635		0.54604	
Italy	333	33	63	37	88	28	3	28
	0.756433		0.4756		0.3598		0.54273	
France	333	26	68	45	11	29	6	29
	0.684866		0.5192		0.3556		0.52783	
Croatia	667	43	47	31	15	30	8	30
	0.680733		0.5197		0.3538		0.52433	
Uruguay	333	44	72	30	26	31	5	31
			0.4741		0.3400		0.50564	
Cyprus	0.7172	35	13	46	34	34	8	32
	0.769352		0.4346		0.3344		0.50053	
Montenegro	941	23	61	69	07	35	6	33
	0.625933		0.5498		0.3441		0.50027	
Malaysia	333	60	24	21	53	32	3	34

			0.5560		0.3426		0.49611	
Qatar	0.6162	67	17	20	18	33	1	35
			0.4361		0.3283		0.48905	
Argentina	0.7529	28	15	67	51	36	7	36
			0.4369		0.3197		0.47282	
Greece	0.7317	32	43	66	11	39	6	37
			0.5377		0.3276		0.47099	
Mauritius	0.6093	70	59	23	56	37	4	38
			0.4266		0.3141		0.46387	
Kazakhstan	0.7364	31	5	72	85	41	7	39
			0.3552		0.3100		0.46281	
United States	0.8728	4	89	105	96	43	7	40
			0.5174		0.3212		0.46266	
Costa Rica	0.6209	63	12	33	61	38	2	41
United Arab			0.5109		0.3186		0.45891	
Emirates	0.6237	61	16	36	59	40	3	42
	0.701466		0.4412		0.3095		0.45317	
Serbia	667	38	26	62	05	44	4	43
	0.593466		0.5246		0.3113		0.44235	
Botswana	667	73	14	27	41	42	9	44
			0.4197		0.3017		0.44174	
Cuba	0.719	34	44	74	96	46	7	45
	0.636233		0.4771		0.3036		0.43639	
Panama	333	57	89	44	04	45	5	46
			0.3839		0.2901		0.42448	
Belarus	0.75572	27	93	90	91	52	2	47
	0.656666		0.4475		0.2939		0.42305	
Moldova	667	51	84	58	14	48	3	48
			0.4597		0.2936		0.42068	
Albania	0.6388	55	66	52	99	49	2	49
	0.570966		0.5232		0.2987		0.41864	
Kuwait	667	77	92	28	82	47	3	50
			0.4724		0.2930			
Oman	0.62035	64	12	49	61	50	0.41733	51
			0.4725				0.41643	
Mongolia	0.6192	65	45	48	0.2926	51	7	52
	0.655866		0.4393		0.2881		0.41358	
Jordan	667	52	66	63	65	53	2	53

Bosnia	and			0.4484		0.2856		0.40740	
Herzegovina		0.63695	56	36	56	31	54	7	54
Trinidad	and	0.658733		0.4138		0.2725			
Tobago		333	48	06	76	88	55	0.38841	55
		0.643466		0.4128		0.2656		0.37573	
Peru		667	54	75	78	71	56	8	56
				0.4182					
Bolivia		0.6223	62	87	75	0.2603	57	0.36497	57
		0.618433		0.4102		0.2537		0.35398	
Ecuador		333	66	32	82	01	59	5	58
		0.656666		0.3815		0.2505		0.35221	
Bahrain		667	50	37	91	43	61	8	59
				0.3589		0.2489		0.35195	
Sri Lanka		0.6935	41	75	102	49	64	5	60
				0.3707		0.2490		0.35077	
Uzbekistan		0.6716	46	92	98	24	63	2	61
		0.532933		0.4840		0.2579		0.34891	
Indonesia		333	87	96	42	91	58	8	62
				0.4076		0.2494		0.34656	
Jamaica		0.612	69	39	84	75	62	9	63
		0.690566		0.3530		0.2437		0.34324	
Armenia		667	42	3	107	91	67	4	64
		0.557333		0.4497		0.2506		0.34167	
Tunisia		333	81	52	55	62	60	3	65
		0.592733		0.4116		0.2439		0.33579	
Brazil		333	74	3	81	87	66	6	66
		0.652233		0.3675		0.2397		0.33421	
Tajikistan		333	53	13	100	04	72	6	67
				0.3018		0.2359		0.33288	
Georgia		0.7817	20	92	120	89	75	1	68
		0.532666		0.4636		0.2469		0.33214	
Namibia		667	88	69	50	81	65	7	69
				0.4294		0.2429		0.33092	
Gabon		0.5658	79	13	70	62	70	1	70
		0.554866		0.4388		0.2435		0.33026	
Paraguay		667	82	55	64	06	68	4	71
				0.3743		0.2361		0.32696	
Turkmenistan		0.631	58	25	95	99	74	8	72

Dominican	0.579066		0.4129		0.2391		0.32662	
Republic	667	76	97	77	53	73	7	73
	0.514733		0.4730		0.2434		0.32371	
Vietnam	333	89	16	47	77	69	1	74
	0.488366		0.4940		0.2412		0.31522	
Zambia	667	92	41	39	73	71	1	75
	0.563133		0.4124		0.2322		0.31397	
Guyana	333	80	6	79	7	76	6	76
	0.656966		0.3448		0.2265		0.31301	
South Africa	667	49	09	108	28	78	3	77
	0.630033		0.3576		0.2253		0.30935	
Saudi Arabia	333	59	38	103	24	79	5	78
	0.466333		0.4964		0.2315		0.29620	
Ghana	333	95	78	38	24	77	9	79
			0.3218		0.2131		0.29141	
Azerbaijan	0.66224	47	78	113	61	82	6	80
			0.4468		0.2133		0.27228	
Nicaragua	0.4774	93	1	59	07	81	1	81
			0.2677		0.1992		0.27013	
Ukraine	0.7444	29	13	123	85	85	9	82
	0.469666		0.4478		0.2103		0.26650	
Lesotho	667	94	37	57	34	83	7	83
	0.418933		0.5177				0.26362	
Bhutan	333	105	43	32	0.2169	80	7	84
	0.534233		0.3718		0.1986		0.25889	
China	333	86	2	97	39	86	8	85
			0.4444		0.2054		0.25813	
Madagascar	0.46235	96	41	60	87	84	1	86
	0.547033		0.3540		0.1936		0.25262	
Algeria	333	85	21	106	61	90	1	87
			0.3807		0.1944		0.24985	
El Salvador	0.5108	90	74	92	99	89	9	88
			0.4551		0.1966		0.23935	
Equatorial Guinea	0.4321	101	47	54	69	88	5	89
	0.598366		0.3039		0.1818		0.23791	
Philippines	667	72	26	118	59	92	5	90
	0.827666		0.2162		0.1790		0.23427	
Israel	667	13	97	130	22	95	8	91

	0.588666		0.3047		0.1794		0.23352	
Mexico	667	75	68	117	07	94	7	92
			0.5112		0.1982		0.22964	
Malawi	0.3878	111	62	34	67	87	6	93
	0.549733		0.3245		0.1784		0.22945	
Thailand	333	83	7	112	27	96	2	94
	0.419266		0.4361		0.1828		0.21758	
Togo	667	104	15	68	49	91	2	95
	0.408761		0.4412		0.1803		0.21185	
Liberia	905	107	78	61	78	93	2	96
	0.400366		0.4284		0.1715		0.19816	
Morocco	667	108	63	71	42	97	3	97
	0.396952		0.4233		0.1680		0.19276	
Angola	381	110	27	73	41	98	6	98
	0.424266		0.3768		0.1598		0.18733	
Cameroon	667	103	19	94	72	99	3	99
			0.3031		0.1521		0.18587	
Zimbabwe	0.5018	91	37	119	14	102	3	100
	0.437966		0.3567		0.1562		0.18456	
Honduras	667	100	63	104	5	101	4	101
	0.549266		0.2657		0.1459		0.17953	
Turkey	667	84	7	124	78	109	6	102
	0.455333		0.3272		0.1490		0.17673	
Kenya	333	98	48	111	07	106	7	103
	0.382266		0.4090		0.1563		0.17423	
Bangladesh	667	113	67	83	73	100	5	104
			0.3598		0.1495		0.17185	
Uganda	0.4156	106	32	101	46	105	5	105
			0.2306		0.1394		0.17079	
Libya	0.6046	71	97	126	79	110	9	106
	0.613733		0.2254		0.1383		0.16909	
Lebanon	333	68	46	127	64	112	2	107
			0.3958		0.1513		0.16788	
Cambodia	0.3824	112	96	88	91	103	5	108
	0.397066		0.3701		0.1469		0.16515	
Guatemala	667	109	58	99	77	108	7	109
	0.370333		0.4039		0.1495		0.16281	
Haiti	333	115	09	87	81	104	6	110

			0.2227		0.1269		0.15059	
Colombia	0.5697	78	67	129	11	116	3	111
	0.340166		0.4073		0.1385		0.14170	
Benin	667	117	3	85	6	111	3	112
			0.3937		0.1353		0.13888	
Rwanda	0.3438	116	15	89	59	114	5	113
	0.301666		0.4881		0.1472		0.13844	
Sierra Leone	667	120	27	41	52	107	5	114
	0.332033		0.4124		0.1369		0.13753	
Papua New Guinea	333	118	42	80	45	113	9	115
	0.371466		0.3370		0.1251		0.13244	
Guinea-Bissau	667	114	03	109	86	117	5	116
	0.430333		0.2760		0.1187		0.13188	
India	333	102	4	122	89	118	1	117
			0.4581		0.1284		0.11051	
Mozambique	0.2803	124	45	53	18	115	7	118
	0.448823		0.2244		0.1007		0.10809	
Nigeria	529	99	6	128	43	123	6	119
			0.4376		0.1166		0.09364	
Senegal	0.2665	128	44	65	32	119	9	120
	0.302666		0.3363		0.1018		0.09074	
Mauritania	667	119	64	110	06	122	6	121
			0.4050		0.1036		0.07773	
Djibouti	0.25584	130	16	86	19	120	3	122
	0.280233		0.3098		0.0868		0.07002	
Burundi	333	125	77	116	38	126	2	123
			0.3170		0.0869		0.06860	
Eritrea	0.2742	126	93	114	47	125	7	124
			0.3000		0.0841		0.06744	
Ethiopia	0.28045	123	26	121	42	127	9	125
			0.4625		0.1027		0.06121	
Burkina Faso	0.22225	133	04	51	92	121	7	126
			0.3790		0.0904		0.06013	
Guinea	0.2387	132	95	93	9	124	6	127
	0.457166		0.1437		0.0656		0.05875	
Iraq	667	97	06	132	98	128	2	128
			0.2514		0.0614		0.03892	
Chad	0.24425	131	49	125	16	130	6	129

			0.3116		0.0636		0.02868	
Mali	0.2041	134	28	115	03	129	7	130
			0.1670		0.0439		0.02697	
Sudan	0.2633	129	62	131	88	132	4	131
	0.300066		0.1231		0.0369		0.02205	
Pakistan	667	121	87	134	64	134	9	132
Central African			0.1366		0.0372		0.02147	
Republic	0.2728	127	97	133	91	133	2	133
	0.151866		0.3718		0.0564			
Niger	667	135	67	96	74	131	0	134
	0.289833		0.0531		0.0153			
Afghanistan	333	122	29	135	98	135	0	135